
RA DIO AND TAPE RE CORDER REPAIRING

ao{S>`mo d Q>on [aH$m∞S>©a [anò [a®J
(603/703)

Time : 1½  Hours ] [ Max i mum Marks : 30

g_` : 1½  K Q>o ] [ nyUm™H$ : 30

Note : All questions are compulsory and carry marks as indicated against each

question.

{ZX}e> $$Ö  g^r ‡ÌZ A{Zdm`© h¢ Am°a ‡À òH$ ‡ÌZ Ho$ AßH$ gm_Zo {XE JE h¢üü&

1. How many electrons are accommodated in L shell? 1

L eob _| {H$VZo BboäQ¥>m∞Z g_m`mo{OV {H$E OmVo h¢?

2. What is shunt resistance? 1

e›Q> ‡{VamoY ä`m h°?

3. Give the colour code for the value 10 K ohm+5%. 1

_mZ 10 K ohm+5% Ho$ {bE H$ba H$moS> ‡ÒVwV H$a|ü&

4. What is an Inductor? 1

‡oaH$ (BßS>äQ>a) ä`m h°?

5. What is a capacitor? 1

gßYm[aÃ ä`m h°?

6. What happens to capacitance when capacitors are connected in series? 1

O~ gßYm[aÃm| H$mo ˚m•ßIbm~’ {H$`m OmVm h°, Vmo Ym[aVm na ä`m ‡^md nãS>Vm h°?

7. What is the mains voltage in the USA? 1

A_arH$m _| _o›g dmoÎQ>oO ä`m h°?
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8. What are ‘Valence’ Electrons? 1

"gß`moOH$' BboäQ¥>m∞Z ä`m h¢?

9. Name the types of radio receiver. 1

ao{S>`mo [agrda Ho$ ‡H$mam| Ho$ Zm_ {bI|ü&

10. What does LASER stand for? 1

LA SER go ä`m Ame` h°?

Fill in the blanks and write your an swers in the an swer-book :

[a∫$ ÒWmZ ^a| Am°a CŒma-nwpÒVH$m _| AnZo CŒma {bI| :

11. According to Ohm’s Law, R = ——. ½

Amoh≤_ Ho$ {Z`_ Ho$ AZwgma, R = ——.

12. Power ( )P I= ´2  ——. ½

e{∫$ ( )P I= ´2  ——.

13. R multiplier is connected in —— to increase the value of voltmeter. ½

—— _| R JwUH$ H$mo dmoÎQ>_rQ>a Ho$ _mZ H$mo ~ãT>mZo Ho$ {bE OmoãS>m OmVm h°ü&

14. —— is the unit of resistance. ½

—— ‡{VamoY H$s BH$mB© h°ü&

15. Filter chokes are used in —— to get smooth DC. ½

—— _| {\$ÎQ>a MmoH$ H$m ‡`moJ {Z~m©Y DC H$s Cnbp„Y Ho$ {bE {H$`m OmVm h°ü&

16. The insulator between the plates of a capacitor is called the ——. ½

EH$ gßYm[aÃ H$s flboQ>m| Ho$ ~rM bJmE JE n•W∏$mar (BßgwboQ>a) H$mo —— H$hm OmVm h°ü&

17. In a —— transformer, the output voltage is always less than input voltage. ½

EH$ —— Q¥>mßÒ\$m∞_©a _| AmCQ>nwQ> dmoÎQ>Vm gd©Xm BZnwQ> dmoÎQ>Vm go H$_ hmoVr h°ü&

18. A crystal microphone works on the effect known as ——. ½

EH$ {H´$ÒQ>b _mBH´$mo\$moZ —— Ho$ Í$n _| ‡M{bV ‡^md na H$m ©̀ H$aVm h°ü&
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19. In a vacuum tube, current flows in —— direction only. ½

EH$ {Zdm©V Zbr _| Ymam H$m ‡dmh Ho$db —— {Xem _| hmoVm h°ü&

20. In an n-type semiconductor, flow of current is controlled by the ——. ½

EH$ n-‡Í$nr AY©MmbH$ _| Ymam Ho$ ‡dmh H$mo —— ¤mam {Z ß̀{ÃV {H$`m OmVm h°ü&

21. The output of full-wave bridge rectifier is —— than the full-wave rectifier. ½

nyU©-VaßJ goVw {XÔ>H$mar (aopäQ>\$m`a) H$m CÀnmX nyU©-VaßJ {XÔ>H$mar H$s Anojm —— hmoVm h°ü&

22. The wave which travels along with —— is called the ground wave. ½

—— Ho$ gmW MbZo dmbr VaßJ H$mo ÒWb-VaßJ H$hVo h¢ü&

23. The electromagnetic wave travels at the speed of ——. ½

{d⁄wV≤-MwÂ~H$s` VaßJ —— H$s J{V go MbVr h°ü&

24. The mixer and local oscillator stage in a radio receiver is called —— stage. ½

ao{S>`mo [agrda _| {_äga Am°a ÒWmZr` Xmo{bÃ MaU H$mo —— MaU H$hm OmVm h°ü&

25. —— transistor is used in pre-amplifier in audio stage of radio receiver. ½

 —— Q¥>mß{OÒQ>a H$m ‡`moJ ‡r-EÂflbr\$m`a _| ao{S>`mo [agrda Ho$ Am∞{S>`mo MaU _| {H$`m OmVm h°ü&

26. The output of amplifier is given to —— during the recording mode. ½

EÂflbr\$m`a H$m CÀnmX —— H$mo [aH$m∞{S>™J _moS> Ho$ Xm°amZ {X`m OmVm h°ü&

27. Recording of data on a CD is done in —— and flats. ½

CD na S>oQ>m H$s [aH$m∞{S>™J —— Edß ‚b°Q> _| H$s OmVr h°ü&

28. On a CD, signal from —— channel is always recorded first. ½

CD na —— M°Zb go ‡m· gßHo$V H$mo h_oem nhbo [aH$m∞S>© {H$`m OmVm h°ü&

29. All functions of a CD player are controlled by a ——. ½

CD flbo`a Ho$ g^r H$m`m] H$mo EH$ —— ¤mam {Z ß̀{ÃV {H$`m OmVm h°ü&

30. Cells and batteries are —— voltage sources. ½

gob Edß ~°Q>ar —— dmoÎQ>Vm Ho$ ÚmoV h¢ü&
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State in your an swer-book, whether the fol low ing state ments are True or False :

{ZÂZ{b{IV H$WZm| Ho$ {bE AnZr CŒma-nwpÒVH$m _| ghr `m JbV {bI| :

31. Primary cells are rechargeable. ½

‡mW{_H$ gobm| H$m nwZ^©aU {H$`m Om gH$Vm h°ü&

32. Kirchhoff’s law for current states that the total current reaching a point equals

the sum of all the currents leaving that point. ½

{H$Mm}\$ Ho$ {d⁄wV≤-Ymam gß~ßYr {Z`_ _| H$hm J`m h° {H$ {H$gr ^r {~›Xw VH$ nh±̨MZo dmbr {d⁄wV≤-Ymam Cg {~›Xw go
‡ÒWmZ H$aZo dmbr g^r YmamAm| Ho$ `moJ Ho$ g_mZ hmoVr h°ü&

33. Current is measured by connecting a meter in series of a circuit. ½

{d⁄wV≤-Ymam H$mo g{H©$Q> H$s EH$ ˚m•ßIbm _| _rQ>a bJmH$a _mnm OmVm h°ü&

34. Resistance of a material is directly proportional to its length. ½

{H$gr dÒVw H$s ‡{VamoY j_Vm CgH$s bÂ~mB© Ho$ gmnoj hmoVr h°ü&

35. The polarity of induced e.m.f. in coil is opposite to applied current. ½

Hwß$S>br _| ‡o[aV e.m.f. H$m YẃdU ‡`w∫$ {d⁄wV≤ Ymam Ho$ {dnarV hmoVm h°ü&

36. For parallel capacitors C C C CT = + +1 2 3 ½

g_m›Va gßYm[aÃm| Ho$ {bE, C C C CT = + +1 2 3

37. A transformer with turns ratio of 10:20 is called step-up transformer. ½

10:20 Ho$ \o$am AZwnmV dmbo Q¥>mßÒ\$m∞_©a H$mo ÒQ>on-An Q¥>mßÒ\$m∞_©a H$hm OmVm h°ü&

38. Inductive reactance is measured in ohms. ½

‡oa{UH$ ‡{VKmV H$mo Amoh≤_ _| _mnm OmVm h°ü&

39. For a series resonant circuit, impedances X L  and X C  are equal at resonant

frequency. ½

EH$ ˚m•ßIbm~’ AZwZmXr n[anW Ho$ {bE, ‡{V~mYmE± X L  Edß X C  AZwZmXr Amd•{Œm na g_mZ hmoVr h¢ü&

40. In a vac uum tube, elec tron cur rent flows from cath ode to an ode only. ½

EH$ {Zdm©V Zbr _| BboäQ¥>m∞Z Ymam H°$WmoS> go Ho$db EoZmoS> H$s Amoa hr ‡dm{hV hmoVr h°ü&
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41. Effect of secondary emission is observed in a triode. ½

{¤Vr`H$ CÀgO©Z H$m ‡^md EH$ Q¥>m`moS> _| XoIm OmVm h°ü&

42. The voltage required to remove potential barrier in silicon is 0·7 volt. ½

{g{bH$moZ H$s {H$gr {d^d ‡mMra H$mo hQ>mZo Ho$ {bE 0·7 dmoÎQ> H$s dmoÎQ>Vm AmdÌ`H$ hmoVr h°ü&

43. The Base controls the flow of electrons from emitter to collector. ½

CÀgO©H$ go gßJ´mhH$ VH$ BboäQ¥>m∞Z Ho$ ‡dmh H$mo AmYma-ÒWb ¤mam {Z ß̀{ÃV {H$`m OmVm h°ü&

44. In FM, frequency of carrier varies according to the frequency of information to

be transmitted. ½

FM _| gßdmhH$ H$s Amd•{Œm ‡gm[aV {H$E OmZo dmbo gßXoe H$s Amd•{Œm Ho$ AZwgma n[ad{Œm©V hmoVr h°ü&

45. When the reverse bias at emitter of regulating transistor increases, the internal

resistance of transistor decreases. ½

O~ {Z`m_H$ Q¥>mß{OÒQ>a Ho$ CÀgO©H$ H$m {dnarV ~m`g ~ãT> OmVm h°, Vmo Q¥>mß{OÒQ>a H$m AmßV[aH$ ‡{VamoY KQ> OmVm h°ü&

46. The audio signal in radio receiver is achieved before the detection. ½

ao{S>`mo [agrda _| Am∞{S>`mo {gæb Ty>±T>Zo Ho$ nhbo hr Cnb„Y hmo OmVm h°ü&

47. The ribbon of cassette is plastic base coated with magnetic material. ½

H°$goQ> H$m [a~Z flbmpÒQ>H$ go {Z{_©V hmoVm h°, {Og na MwÂ~H$s` nXmW© H$m AmdaU MãT>m`m OmVm h°ü&

48. Both AC and DC bias are used for reducing the distortion in recording. ½

AC Edß DC XmoZmoß hr ~m`g [aH$m∞{S>™J H$s {dH•${V _| H$_r bmZo Ho$ {bE ‡`w∫$ {H$E OmVo h¢ü&

49. The automatic level controls the level of signal during playback. ½

flbo~°H$ Ho$ Xm°amZ ÒdMm{bV ÒVa {gæb Ho$ ÒVa H$mo {Z ß̀{ÃV H$aVm h°ü&

50. The bias and erase oscillator turn on only during recording. ½

~m`g Edß BaoO Xmo{bÃ Ho$db [aH$m∞{S>™J Ho$ Xm°amZ hr Ky_Vo h¢ü&

H H H
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